o2 AABCOA A I+ 4239 yalolt}h. /BAI = 22°,/BCI =

80 o]l [q1
(AIC : /ABCE 7+st A 2 yeryolzg},

A

22°



2. o a"EA A 0 L AABC 9] 94Alelth /ACB = 30°, /OCB =
20° A uj, /B o] 27|E Lot}

B

20
30° C




3. Hs "N 90 k0 2 A7 aABC 9] ¢y W ol
o] o] Wol7t 9rem?, WA ] Wol7l 1rem?® & ], AABC 9]
=89 dolE izt




4. oL OFHo|A H 1= AABCO] YAlolth C=60°Y ], LZADB 9}
(AEB 9] 27]9] §2? (¢, ADS BE+= 217} /A 9} /B 2] HZhe
ol 5EAoltt)

D 200° ® 180° 3 160° @ 140° B 120°



o2 1A A 1= aABC Q] YAloltt. LA o] Wzho] o] 57 A
BCo ¥ D, /B HZto] o5 &AM ACS B H S EgtY
o, /AEB = 88°, /ADB = 86°°]|t}. «C 2] 27]|E F5tofet.

o 5




g TolH A T aABC o] Aot AELBC © 1, /DAE 9
2712 Fahelat

A

320 lwANg
B C
DE gy




7. AABCOA HT1EWHE o, /x4 2y 3 A
712

Z 727

ve)

@D 190° @ 191° 3 192° @ 194° ® 198°



8. T IYoA HI = AABC 9 YAloltt, /AEB = 83°, /ADB = 82°
A, ,C 2] 27]E oot




& 193 gol 9F #io] 3 91 A ABCD 7} ot HiZH4d BD
9o] AB = BE 7} 5|52 A E £ &1, E = 2}t BD o £2¢l

=

2] 41o] CD ¢t ¥fth= S F 2t & ufl, 3DF + DE+ EF + CF 9] #4&
F-oholet.
A D
E
T F
B C




10.

T AABCOA AB = AC, CB = CD, /A = 40°Y o, zx 2] 37]

=9

Q

@D 20° ® 25° ® 30° @ 35° ® 40°



11. o 2383 2ol /A =90°, AB = AC ¢ ZZo| 514714 ABC
7k 4tk AB=DB ¢l D € A4™ AC ¢t ¥ He Bt &

i, zx & 271=7

A_\

=

@D 60° ® 62.5° B 65° @ 67.5° B 70°



12. 8 T4 AABC = /A = 90° ©]2L AB = AC ¢ &
Z¥golth, T A B, C oA H A & A= A [ o Y 5419

Z12F D,E 2t & o, AABD ©] {ol=?

® 24cm?

@ 18cm?

@ 12cm?

@ 30cm? ® 36 cm?



13.

ol YHdYelal, D, E, F
152 dol&=? (%, AB=6



2o A2k ABCD oA & 98 242 AABC, AACD

AA E, F Atole] 72 Fatolat,

cm



A, a+n 9

&R I

2
125

15.

i)

o
—

ozt (Ha,n

5

HA5qe 7



i

2 Uehd 4 gk B4 Tatelet

2~
e



oju
U

M~

Fodat (2, 90 <a < 100)

75

O
=

o, a+ b2 G



18.

D 0.83

@ 0.83

S0

®

Zot= x 9 S £F

0.83 @ 0.

rik

B>
=

88

2 LERE?

® 0.88



19.

2
T,b_l_ “ o
74
o] 27
@D 218

e W17 A2 0] 4

@ 226 3 231

]EI-QU’H, X1+X2+'-~—|—X50

@ 238 B 239



20.

B o &% 0 WA A2 $AE 5, o2 B W), o
Aotz el

Al

x1 + x2 + 0.Xg + 0.x58




21.

@D 870

@ 97

3 107

@ 1174

G 1274



